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1. Cloze Test
Choose the only correct answer from the parentheses, and write the
representing alphabet A, B, C, D, or E on the answer sheet. 30%

As the 1__ ofoil is becoming a serious global issue of great concern, many
countries are turning to find the alternative needed for maintaining industrial and
commercial needs. The search for energy 2  ofthe wind is an option in UK.

Upto 7,000 wind turbines 3 off the English coast under plans announced
by the government to power every home in Britain with wind-generated electricity by
2020.

“The draft plan could allow companies __ 4_ 25 gigawatts of offshore wind
by 2020, in addition to the eight gigawatts already planned,” Energy Secretary John
Hutton said in a statement.

The combined 33gigawatts would produce enough electricity to power all of the

5___.Theplans 6 for their environment impact first.

“"This could be a major contribution towards meeting the EU’s target of 20
percent of energy from 7 by 2020,” Hutton said.

Britain currently produces almost five percent of its energy from renewable
SOUTCES.

The plans would change the face of the English coast, 8  of one wind
turbine every 1.6 kilometres,

The plans include the biggest wind farm in the world, a 1.5-billion-pound project

9 341 wind turbines in the Thames Estuary. 10 that such an
unprecedented initiative will help UK survive in the era of energy crisis.

1. (A)rise short (B) risen shortage (C) rising shortage (D) to rise short
(E) shortage rise
2. (A) by taking advantage (B) take advantage (C) taking advantage
(D) took advantage (E) taken advantage
(A) will install (B) install  (C) installing (D) to install (E) will be installed
(A) to develop (B) develops (C) developed (D) is developing (E) develop
(A) UK 25 millions homes (B) UK 25 millions home (C) UK’s 25 million home
(D) UK’s 25 million homes (E) UK’s 25 millions homes
6. (A) must assess (B) must be assessed (C) must be assessing (D) must be assess
(E) must assessing
7. (A) renewable sources (B) renew source ( C) renewing source
(D) to renew sources (E) to be renewing sources
8. (A) being equivalent (B) with the equivalent (C) on equivalent to
(D) equivalent with ~ (E) is equivalent
9. (A) is comprised (B) comprise (C) comprising (D) to comprising (E) comprised
10.  (A)Hopeful (B)Itis hoped (C) It’s hoping (D) To hope (E) It is hoping
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2. English Composition 70%

Read the following article carefully, and write down vour reflections in about
250 - 300 words. What is your reaction to this passage?

The feared sky-rocketing of oil prices that is underway could deal a crippling
blow to a global economy already reeling from the US housing slump and tight credit.
This has an inevitable impact on every country, including Taiwan, Korea, Japan and
many other Asian countries.

The reality of soaring energy costs could mean a darker outlook for the US and
global economy, by raising the price of a variety of goods and services. The notion of
a quick recovery in the struggling US economy would likely be put in doubt, and the
rest of the world would suffer as well.

A global economic downturn would be the most likely outcome, led by a longer
and deeper recession in the US and all other countries.

As a matter of fact, something has to be done immediately to safeguard the
downturn of global economy.




